y = aSin/Cos(b(xxh)) £ k

a — \Vert strecth or shrink - Amplitude

Also x-axis reflection if negative
b — Horiz stretch or shrink Period = 21i/b and b = 2n1/Period

h — Phase Shift - Horiz translation - the x-coord of start point

k — Vertical translation - Equation of the Midline

gives you y-coord of pts on midline

Sine Graphs

Starting points for

y = aSin/Cosx

Positive a

Starts

on the Midline
and goes UP

Negative a

Starts

on the Midline
and goes
DOWN

Cosine Graphs
Positive a

Starts

at a Max
Negative a

Starts at

a Min




1. Write both a Sine and Cosine equation for the graph
shown below.
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y = aCos(b(xth)) £ k

a — \Vert strecth or shrink - Amplitude
Also x-axis reflection if negative

b — Horiz stretch or shrink  Period = 211/b and b = 211/Period

h — Phase Shift - Horiz translation - x-coord of starting point

k — Vertical translation - Equation of the Midline
gives you y-coord of starting point (and pts on midline)



Write a Sine Equation for this graph. e
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Write the equation of this graph as a Sine Function:
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